
 

Thm 4 IO i Let a and a be natural numbers with

la n L and k ordn a

If m is a natural number then

am L Cmod n

if and only if he Im

Proof By Division Alg we have

m q k t r where OE r Lk

So am aah Cmod n

kY.ar mod n

12 ar modu

a Cmod n 0 Erik

L
Hunter The numbers a a a Lah a conodns

are pairwise incongruent In particular only one

is congruent to 1 Imad n

So am I 1 mod a if andonly if r 0 i.e Klm



Fhn nayiIfCa.n L k ordn a

when we look at powers of a modulo n

Under multiplication we just add exponents modulo k

Reagon ai ai Cmod n I i j

aiJ ai at Cmod n

ai j 1 moda

Them 4.10 k Ici j i j Cmd h

a 7 n lo

7 mod co

72 49Conodio I 9 mud10

73 7.9 modlo 3 mod 10 Ordo 7 4

74 7 3 modo 1 mod 10

so when we work with powers of 7 modulo 10

we add exponent modulo 4

Eg 726 741 7
t Cmd lo

b
72 0.7 mod10

I 73 mod 10



Portfolio
Entries imported

Turn in unfinished entries ASAP

Volunteer for extra portfolio entries worth extracredit

see Canvas announcement latertoday

Exitsuney
Next week
Must respond to reciere participation grade

FrhalExay
Monday May 10

1030 am 12 30 pm

Cumulate emphasis on Ch 314

Nextweeh
Mondayi Fun math

Wednesday Reflection

Friday Review


